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Algebra 1 (acad) Name K E / ID: 2

7WP - Current Word Problems with Systems Date Period

1) Flying with the wind a plane went 340 mph. Flying into the same wind the plane only went 302
mph. Find the speed of the plane in still air and the speed of the wind@,pggo oF The PLANE
Key Information: Draw a picture! PLane IN STILLAVR
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Solve and Check:
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Answer (in words) (‘P\OL/\C. - 22l mph Wind - 14 M

2) Traveling with the current a certain boat went 10 mph. Against the same current it only went 2
mph. Find the speed of the boat in still water and the speed of th? :ﬂurrent.
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Key Information: Draw a picture!

Variables: X= Opeed in shHllWeter (mph) Y=  Cucrent s‘pce.é (mph)

Equations: 1) X +\I = 106 \ ’

2) X—-4 =  V

Solve and Check: @) ,
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Answer (in words) ém(’\'\ 11 §'}1“ ch//: CUW&V\*‘ ‘5;9664 13 ‘f/molf\



3) Traveling downstream a certain boat went 10.5 mph. Traveling upstream it only went 1.9 mph.
Find the current and the speed of the boat if there were no current.

Key Information: Draw a picture!

Varisbles: X=  Speed 3 sh il weter (uph) Y= Speed of Curront (MpY)

Equations: 1) X4+Y = lo.s |
2) X=-N = 1.9 v
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Answer (in words) Speeé. A S'};“ (AJc:"(.r 1S é.Jmeh/: CWI\E/\'}' S,'Qéed "/-S,Hfh

4) A lee_'tr,ayglcg..ﬁﬁﬁrfni}gstql San Francisco and back’.‘ The trip there was with the wind. It took
0“50 5 hours. The trip back was into the wind. The trip back took 10 hours.~What is the speed of the

% - plane instill air? ‘What is the speed of the'wind? .
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nswer (in words) -
z\_‘> The Speed ot ?lcbc_ in shil air i3 90 mph
and Yhe Speed of He wind is Zomph.
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